C1

The dog the ball in the park.
Answer:

The cat the mouse under the table.
Answer:

The bird its feathers.

Answer:

The monkey the banana from the tree.
Answer:

The horse the fence.

Answer:

The fish in the water.

Answer:

The turtle from its shell.

Answer:

The cow the grass in the field.
Answer:

The lion its prey in the jungle.
Answer:

The rabbit out of its hole.

Answer:




Answers

The dog the ball in the park.
Answer: chased

The cat the mouse under the table.

Answer: caught

The bird its feathers.
Answer: preened

The monkey the banana from the tree.

Answer: plucked

The horse the fence.
Answer: jumped over

The fish in the water.

Answer: swam

The turtle from its shell.

Answer: retreated

The cow the grass in the field.

Answer: grazed on

The lion its prey in the jungle.
Answer: hunted

The rabbit out of its hole.
Answer: emerged



